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Please read the instructions carefully.

This question paper consists of 24 questions in two Sections : Section A
and Section B.

Section A has Objective Type Questions whereas Section B contains
Subjective Type Questions.

Out of the given (6 + 18) = 24 questions, a candidate has to answer
(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.

All questions of a particular section must be attempted in the correct
order.

Section A : Objective Type Questions (30 marks) :
(a)  This section has 6 questions.

(b)  There is no negative marking.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

Section B : Subjective Type Questions (30 marks) :
(a)  This section has 18 questions.

(b) A candidate has to do 11 questions.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

SECTION A
(Objective Type Questions) (30 Marks)
Answer any 4 out of the given 6 questions on Employability Skills. 4x1=4
(1) Name the phrase that renames an earlier noun or pronoun.
(i1) are sources of motivation and inspiration, because they

help us visualize the unknown and uncharted territories beyond
our capacities.

(A) Expansive thoughts (B)  Games

(C)  Social gatherings (D)  Books
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(iii)

(iv)

(v)

(vi)

2y
o
Name the type of personality disorder, in which a condition is
marked by an over-reliance on other people to meet one’s
emotional and physical needs.

The feature of Calc allows you to fill a range of cells
with a series of data without typing all of it.

(A) Alignment (B)  Autofill

(C) Formation (D)  Column width

Name the type of entrepreneurs who do not have any
entrepreneurship background.

One of the principles of green tourism is to

(A) respect socio-cultural authenticity of host country
(B) avoid gatherings

(C)  drive less, drive smart

(D)  use off buttons

Answer any 5 out of the given 7 questions. 5x1=5

(i)

(i1)

(ii1)

An air compressor, having discharge pressure of 150 psi or lesser,

is classified as pressure air compressor.
(A)  high
(B) low

(C) medium

(D) extreme

In the case of HMV (Heavy Motor Vehicle), one of the documents

required for the renewal of commercial driving licence is

One of the applications of tyre inflators is that they are used in

fuel retail outlets, service stations, garages and
(A) automobile showrooms

(B) auto parts shops

(C) car washing shops

(D) tyre shops
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(iv) Sometimes, in suspension system, instead of standard type of coil
springs type of coil springs are used in automobiles.
(A) normal (B) compact

(C) progressive (D)  soft

(v)  Automatic type tyre inflators are normally digital type and can be
electronic pre-set type with also.

(vi) A wing type Air Valve Control is provided on the top of the spark

plug cleaner to control the flow of during sandblast
cleaning of spark plugs.

(A) air and sand (B) pressure

(C) current (D) sand

(vii) The static balance of wheel, with the use of a sensor mounted to
the spindle assembly, is measured by the

(A)  vulcanisers
(B) tyre manufacturers
(C) service engineers

(D) technicians
3. Answer any 6 out of the given 7 questions. 6x1=6

(1) Which of the following eases the drive effort in steering the vehicle ?
(A) Positive caster
(B) Positive camber
(C) Negative caster
(D) Toe-in

(11)  The radius of the circle on which the outside front wheel moves,
when the front wheels are turned to their extreme outer position,

is known as radius.
(A) pre-set (B) axial
(C)  vertical (D) turning

(iii) It is compulsory for all motorized vehicles to have an insurance
policy against third party liability, before
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(iv) Excessive positive caster angle results in hard steering, causing
road shocks to be felt at the .
(A) front wheel (B) steering
(C) passenger seat (D) rear axle

(v)  In worm and nut with re-circulating ball steering gear box, a ball
nut is mounted on the

(vi) The gear in the steering gear box assembly not only steers the
front wheels, but at the same time they can act as reduction gears,
reducing steering wheel turning efforts by increasing the
(A)  output torque (B) gear ratio
(C) turning angle (D)  scrub radius

(vii) One of the two advantages of power steering system is that it
reduces the number of turns of steering wheel required to move it

from .
(A) left to right (B)  right to left
(C) mid point to lock (D)  lock to lock
4. Answer any 5 out of the given 6 questions. 5x1=5
(1) Independent suspension can overcome the difficulty in the rigid
suspension by making the two front wheels each other.
(A) dependent on (B) joining
(C)  disconnecting (D) independent of
(i1))  In oscillation of sprung weight, occurs by turning or

driving the vehicle on a bumpy road, in which the springs on one
side of the vehicle expand, while those on other side contract.

(A) rolling (B)  pitching
(C)  bouncing (D) yawing

(i11)) In case of commercial licence renewal, one of the documents
required is from the transport authority.

(iv) leaf spring refers to a semi-elliptical spring mounted

in an inverted manner and has a saddle above, forming a bow and
is attached parallel to the wheel axle.

(A)  Full elliptical (B) Transverse

(C)  Quarter elliptical (D)  Semi-elliptical
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(v) In mechanical shock absorbers, the friction action of metallic discs
is utilized to control the spring action whereas in hydraulic shock
absorber fluid it is used to

(vi) In MacPherson strut suspension, the upper end of the shock
absorber and the top of the coil spring are made to sit on the seat
provided on the

(A) side member
(B) axle pad
(C)  structural frame

(D) cross member

5. Answer any 5 out of the given 6 questions. 5x1=5
1) The propeller shaft is normally made by seamless steel tubing
method with welded to both ends of the shaft.
(A) extra weight
(B) universal joint yokes
(C) external splines
(D) internal splines
(i1)  Cross or spider type of variable velocity joints, consist of two

Y-shaped yokes, connected at right angles to each other by means
of a

(A) slipjoint
(B) centre bearing
(C) flexible ring

(D)  cross or spider

(iii) A constant velocity joint, consisting of a housing, a spider and a set

of three rollers is called joint.
(A) Rzeppa (B) flexible
(C)  tripod (D) rigid

(iv) The three way catalytic converter is the most ideal type of catalytic
converter since it can convert not only CO and HC, but also
, into non-polluting substances.
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(v)  In rear axle, the drive from the propeller shaft is transmitted

via the crown wheel and pinion, to both rear wheels by means of

the
(vi)  Three quarter floating type of rear live axle is used in
vehicles.
(A) small and medium (B)  heavy
(C) light (D) passenger
6. Answer any 5 out of the given 6 questions. 5x1=5
1) The function of engine speed sensor is to monitor engine speed,

which is one of the factors used to calculate

(ii)) The DC charging system offers voltage output,
particularly at low speeds or idle speeds of engine.
(A) limited (B) unlimited
(C) constant (D) low

(iii) The speed of the generator at which its output voltage just rises
above the voltage of the battery being charged is called

speed.
(A) over (B) abnormal
(C) cutting out (D) cutting in

(iv) In the operation of voltage regulator, as the generator speed rises,
the current flowing through the shunt coil of regulator

(A) decreases (B) increases
(C) cuts off (D) varies

(v)  Multi Point Fuel Injection uses several injectors, normally
respective to number of engine cylinders and placed at the
of each cylinder.

(A) induction manifold
(B) carburettor

(C) inlet port

(D)  outlet port

(vi) Any kind of substance released into the air from natural or
human sources — discharge of gases, liquid droplets or solid
particles, is called
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SECTION B

(Subjective Type Questions) (30 Marks)

Answer any 3 out of the given 5§ questions on Employability Skills. Answer each
question in 20 — 30 words.

What do you understand by exclamatory sentence ?

How can ‘living in present’ be a source of motivation and inspiration ?
Name any three components of a Calc screen.

Write the role of green jobs in limiting greenhouse emissions.

What do you understand by “Decisiveness” as an exercise
entrepreneurial attitude ?

Answer any 3 out of the given 5 questions in 20 — 30 words each.

12.
13.
14.
15.
16.

Write the working principle of air compressor.

Write any two disadvantages of power steering.
Name the various types of hydraulic shock absorbers.
Write the utility of universal joint in transmission.

Name the natural sources of emissions occurring in nature.

Answer any 2 out of the given 3 questions in 30 — 50 words each.

17.
18.

19.

What do you understand by differential ?

3Ix2=6

of

3x2=6

2x3=6

What do you understand by fuel delivery system/control in electronic fuel

injection ?

Name the various advanced technologies adopted in emission control.

Answer any 3 out of the given 5 questions in 50 — 80 words each.

20.
21.
22,

23.

24.
328

3x4=12

Write the names of the various main parts of a commonly used car

washer.

Explain the working principle of hydraulic power steering in neutral

(straight-ahead) position and while turning.

With the help of a proper layout, show the classification of suspension

springs. Explain torsion bar spring.

Ankita/Ankit is working as a mechanic in an automobile workshop.
She/He receives a car for repair with the defect, transmission is noisy in
neutral speed position. Advise her/him to check for various probable

causes of defect with their remedies.

Write the various purposes of Automotive Electrical System.
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